
Tir à la Cible avec une Boule de Neige (G)
Nom: Date:

Lancez chaque boule de neige à la cible correcte.

701
× 2

1214
− 734

939
− 491

1121
− 972

4160
÷ 5

1398
− 488

924
× 7

2723
÷ 7

642
− 217

3032
÷ 8

379 389 910 480 149 425 448 832 6468 1402
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Tir à la Cible avec une Boule de Neige (G) Réponses
Nom: Date:

Lancez chaque boule de neige à la cible correcte.

701
× 2

1214
− 734

939
− 491

1121
− 972

4160
÷ 5

1398
− 488

924
× 7

2723
÷ 7

642
− 217

3032
÷ 8

379 389 910 480 149 425 448 832 6468 1402
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